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#include<stdio.h>
#include<stdlib.h>
#define N_TRADER 100
#define t_max 100000
float abs_r(float x);
main(int argc, char *argv[])
{
int B=0, a=1, t, i, imax, imin;
float lambda=1.0, ¢, alfa=0.01,
Pprev = 0, P = 0, delta_P = 0;
float D[N_TRADER] [2], BB[N_TRADER],
L, Bmax, Bmin, amax, amin, ran;
FILE *fp;
if ( argc '= 2) {

printf(" Write the data file’s name.\n");

exit(1);
+

if ((fp = fopen(argv[1], "w")) == NULL) {

printf(" The file dosen’t open.\n");

exit(1);
}
printf (" Input The Parameters (default) <
N_TRADER=Yd , t_max=%d >\n", N_TRADER,
t_max) ;
printf (" c =(0.0 - 0.3) "); scanf("%f",&c);
for( i = 0; 1 < N_TRADER; i++){
ran = (2.0 * (float)rand()/RAND_MAX )- 1.0;
D[i][B] = ran * lambda / 2.0;
D[il[a] = ran * alfa;
}
for( t=0 ; t <= t_max ; t++ ){
imax = 0;
imin = 0;
for( i=1 ; i < N_TRADER ; i++ ){
if( D[i1[B] < D[imin] [B] ){ imin = i; %}
if( D[i1[B] > D[imax] [B] ){ imax = i; }
}
L = D[imax] [B] - D[imin] [B];

if( L >= lambda ){

P = ( D[imax] [B] + D[imin] [B] + lambda )/ 2.;

delta_P = P - Pprev;
Pprev = P;
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D[imin] [a]

D[imax] [a]
Yelsed{

P = Pprev;
+

for( i=0 ; i < N_TRADER ; i++ ){
D[i][B] += D[i][a] + c * delta_P;

abs_r( D[imin] [a] );
-abs_r( D[imax] [a] );

fprintf (fp,"%26.16e%26.16e\n" , P, delta_P);
}
fclose(fp);
}
float
abs_r(float x)
{
if( x < 0. ){

A2 0O00O0OO
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#include<stdio.h>

#include<stdlib.h>

#include<math.h>

#define T_max 10000

#define Gamma 0.4

#define Sigma 0.01

double Laplace_0();

int Risan_Teki_Sisuu();

double delta_P(double *c, double *dP_beforep,
double *dP_afterp);

main(int argc, char *argv[])

{
int t;
double e, P = 0.0, dP_before = 0.0, dP_after = 0.0;
FILE *fp;

if ( arge !'= 2 ){
printf (" Write the data file’s name.\n");
exit(1);

}

if ((fp = fopen(argv[1], "w")) == NULL) {
printf(" The file dosen’t open.\n");
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exit(1);
}
printf ("input c\n?") ;scanf("%1f",&e);
for( t = 0; t < T_max; t++ ){
P += delta_P( &e, &dP_before, &dP_after);
fprintf (fp,"%25.16e\n", P);
}
fclose(fp);

A22 000 Ap,00000O0O

double

delta_P(double *cp, double *dP_beforep,
double *dP_afterp)

{

*dP_afterp = (*cp) * (double)Risan_Teki_Sisuu() *
(*dP_beforep) + Laplace_0Q);

*dP_beforep = *dP_afterp;

return *dP_afterp;

3
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int

Risan_Teki_Sisuu()

{
double RTS;
RTS = -( 1.0 / Gamma )* log( 1.0 - sprng(Q) );
return (int)RTS + 1;

}

A24 0O000O0OODOODODOo,000ODODOO

double
Laplace_0Q)
{

double ran;
ran =sprng() ;
if( ran < 0.5){

return ( double) Sigma * log( 2.0 * ran ) ;
Yelse {

if( ran >= 0.5 ){

return ( double) -Sigma *
log( 2.0 * ( 1.0 - ran) );
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#include<stdio.h>
#define N_data 1000000
#define histg_range 10000
main(int argc, char *argv[])
{
FILE xfp_read,*fp_write;
static int N_limit=N_data,histglhistg_range],
i, j, k, 1, m, n;
double data[N_datal,d_min,d_max,delta_d, myu, vari;
if ( argc '= 3 ) {
printf ("Write the r_data and the w_data
file’s name.\n");
exit(1);
}
if ((fp_read = fopen(argv[1], "r")) == NULL ||
(fp_write = fopen(argv[2], "w")) == NULL){
printf(" The file dosen’t open.\n");

exit(1);

}

for( i =0 ; i < histg_range ; i++ ){
histgl[il=0;

}

for( j = 0 ; j < N_data ; j++ ){
datal[j]=0.;

for( k = 0 ; k < N_data ; k++ ){
if (fscanf( fp_read ,"%1f*["\n]",&datalk]) == EOF ){
N_limit = k;
break;
}
}
d_min = datal0];
d_max = datal[0];
for( 1 =0 ; 1 < N_limit ; 1++ ){
if( datal[l] < d_min ){
d_min = datal[l];
}
+
for( 1 =0 ; 1 < N_limit ; 1++ ){
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if ( data[l] > d_max ){
d_max = datal[l];
}

}
delta_d = (double) ( d_max - d_min )/histg_range;
for(m=0 ; m < N_limit ; m++ ){

histg[(int) (( data[m] - d_min )/ delta_d)]++ ;

for(i=1; i <= N_limit ; i++ ){
myu += ( data[i] - myu )/ (double)i;
vari += ( (datal[i] * datal[i]) - vari )/i;
}
printf( " moment1=%26.16e \n moment2=%26.16e \n
N_limit %d\n", myu, vari, N_limit);
fprintf( fp_write, "#momentl1=%26.16e \n
#moment2=7%26.16e \n#N_limit %d\n",
myu, vari, N_limit);
for( n =1 ; n < histg_range ; n++ ){
if ( histg[n] !'= 0 ){
fprintf( fp_write,"%26.16e %26.16e\n",
d_min + delta_d *(n + 0.5),
(double)histg[n]/( N_limit * delta_d ));
}
}
fclose(fp_read);
fclose(fp_write);

A32 o0 ZAp)ODDODODOOODOOOOODOO

#include<stdio.h>
#include<stdlib.h>
#include<math.h>
#define SIMPLE_SPRNG
#include "sprng.h"
#define Gamma 0.4
#define Sigma 0.01
#define hist_range 1000
double Laplace_0Q);
int Risan_Teki_Sisuu();
double abs_r(double x);
main(int argc, char *argv[])
{
int t=0, T_max ,i = 0, h = 0,
hist[hist_range],hist_max;
double delta_P_before, delta_P_after,
multi, delta_x, dx,
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vari, ¢, c_min = 0.0,
c_max = 0.4, delta_c = 0.001, myu, lap,
m_vari, problhist_range], prob_max, m_devi;
FILE *fp;
if Carge '=2) {
printf("Write the w_data file’s name.\n");
exit(1);
}
if ((fp = fopen(argv[1], "w")) == NULL){
printf(" The file dosen’t open.\n");
exit(1);
}
printf ("input T_max\n?") ;scanf ("%d",&T_max) ;
printf ( "#%7.6s%26.2e\n","T_max=", (double)T_max) ;
fprintf (fp, "#%7.6s%26.2e\n","T_max=", (double)T_max) ;
printf ( "#%7.1s%26.16s%26.16s%26.16s%26.16s\n",
"c","sqrt(vari-m~2)",
"max_PDF","multi","1.0 / sqrt( 2.0 )");
printf ( "#%7.1s%26.16s%26.16s%26.16s%26.16s\n",

n

fprintf(fp, "#)7.1s%26.16s%26.16s7%26.16s%26.16s\n",
"c","sqrt(vari-m~2)",
"max_PDF","multi","1.0 / sqrt( 2.0 )");

fprintf (fp, "#47.1s%26.16s%26.16s%26.16s%26.16s\n",

n_nw nw__ "

delta_x = 0.1;
dx = delta_x /(double)hist_range;
for( ¢ = c_min; ¢ <= c_max; c += delta_c){
for( h = 0; h < hist_range; h++ ){
hist [h] 0;
prob[h] = 0.0;

}
delta_P_after = 0.0;
delta_P_before = 0.0;
vari 0.0;
myu = 0.0;
for( t = 1; t <= T_max; t++ ){
delta_P_after = ¢ * (double)Risan_Teki_Sisuu()
*x delta_P_before + Laplace_0Q);
myu += ( delta_P_after - myu ) / t;
vari += (( delta_P_after * delta_P_after )
- vari ) / t;
delta_P_before = delta_P_after;

if( abs_r( delta_P_after ) < ( delta_x / 2.0)){
hist[(int) (( delta_P_after -
( - delta_x / 2.0 ) )/ dx)] ++;
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}

A.3.3

}
}
for( h = 0; h < hist_range; h++ ){

prob[h] = (double)hist[h]/( (double)T_max * dx);
}

prob_max = -1;
for( h = 0; h < hist_range; h++ ){
if ( prob[h] > prob_max ){
prob_max = probl[h];

}
}
m_vari = vari - ( myu * myu );
m_devi = sqrt( m_vari );
multi _devi * prob_max;

=m
lap = 1.0 / sqrt( 2.0 );
printf( "%8.2e%26.16€%26.16€%26.16e%26.16e\n",
¢ , m_devi, prob_max, multi, lap);
fprintf (fp, "%8.2e%26.16€%26.16e%26.16e7%26.16e\n",
c, m_devi, prob_max, multi, lap);
}

fclose(fp);

gobboboogbobobod

#include<stdio.h>

#include<math.h>

#define X_range 20.

double abs_r(double x);

double levy(double x, double beta);

/**¥%x return f(x) = a * | x - myu |~( -beta) ***x/
main(int argc, char *argv[])

{

FILE x*fp;
double a, beta, myu, delta X, X, Y;

if( (fp = fopen( argv[1] , "w" )) == NULL ){
printf("error : can’t open file\n");

exit(1);
+
printf( " £f(x) = a * x~( -beta) \n");
printf( "input beta\n?") ;scanf ( "%1f",&beta);
printf( "input a\n?") ;scanf ( "%1f",&a);
printf( "input myu\n?") ;scanf ( "%1f",&myu) ;

delta_X = (X_range )/10000.;
for( X= (-X_range + myu ) ;
X<= (X_range + myu ) ; X+=delta_X ){
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if( X - myu ) !'= 0.0 ){
Y = a * levy((X - myu) ,beta);
if (Y >= 0.0 ){
fprintf( fp, "%26.16e%26.16e\n", X, Y);
}
}
}
fclose(fp);

double
levy(double x, double beta)

double F;
F = -beta * log( abs_r( x ) );
return exp( F );

}
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